normalized X?

1072

107

107}

Entries
Mean
Std Dev

1.158

Entries

[ normalized x? probability |

0.07

0.06

0.05
: [Entries
_ | mean
Std Dev

0.04

0.03

2
T
o
0'0 2 4 6 8101214 161820 0'00102030405060708091
X2 Prob(x?)
mmmm= DQM_mkFit_TT_base_noSel
e DQM_mkFit_TT_base_8iter_noSel
wmmm= DQM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel
A 2[
T r
- 1.8
(\$< -
V1.6
1.4
1.2]
-
0.8
0.6
o
T
o
1
0.95
n
A5 A F
2 4.5 2 1.8F-
%% < 1.6F-
Vo4 v E
3.5 Lag
1.2F
3 E
-
2.5 E
0.8F-
2 0.6F
1 0.4F
[ 0.2F
o 05 o &
T T
@ o
0.5
0. L oL~
10" 1 10 10? 10 107

-1
AR(track, jeltS)



	Contents
	Page 1


